F22RMILY v X< T >
F— L3I D EB

1 N—TBIRAINF — L 1002|SRC B shAt FIER )l AT B 2 6:37:43|1:24:00 [1:40:00 (1:41:36 |1:52:07
1 N=TBFINF— L 1101|MIFTHERS B BIBRA 3 FE AR = BfE &M 6:39:4911:31:31 |1:33:30 (1:40:17 |1:54:31
1 N=THFINTF — L 1201 (FAFRILE S S 2R F BB BiEE | BER BE¥H A% B EAR 7:47:30|1:46:50 |1:58:00 [1:59:41 |2:02:59
1 10kmBLZEAAINTF — L 2006|€ 7 L ~»RC i B A =5 R fift Hr e 2:32:11(0:36:26 |0:37:46 ]0:38:51 [0:39:08
1 10kmEBFANF — L 21011 —F AT A BiC I IRE BEEE =18 BN 2:17:2410:33:33 |0:33:39 ]0:34:37 [0:35:35
1 10kmZ FANF — Ln 201| BIEEEHARSA—VE EHZ HEB FFAR EE BT FHE H<H | BER 3:25:14(0:45:35 |0:50:00 |0:50:10 [0:59:29
1 SkmB LR EINTF — L 3001 | AFMFRLC KE A e HE RE 78 B 1:37:13{0:22:13 [0:23:19 |0:23:47 |0:27:54
1 SkmBFHFEIANF — L 3101|F — LEAIRN = E BER KR (A 28 P == 1:07:30{0:16:02 [0:16:23 |0:16:39 |0:18:26
1| SkmBFEREULIAF—L 3202| =% 7 — /7B FZH &7 L @I KR BEF A 1:59:11]0:25:53 |0:28:12 [0:30:07 [0:34:59
1 SkmZFANTF — L 3302|FOEE KkE BRI ES Be % B BT Fik B RIE BT 1:53:17{0:26:17 [0:28:47 |0:28:48 ]0:29:25
1 3kMEBTFAATF — L 4103 J RCHIIHBF rFFEEKX H EE HH #EE AR AE 0:47:25(0:11:21 (0:11:25 |0:11:30 |0:13:09
1| 3km&TZFNFA~6FELINTF — L 420113BRET7 AV —ho o7 W BBE N 3% AR B [FAENE=S 1:07:05{0:13:05 [0:13:35 |0:19:35 |0:20:50
1 BkMEZFHFEINTF — L 4301 |7 2 A ELOVE! B5HER E UK FRE ¥4 NP Bk 0:53:58(0:12:52 |0:13:08 ]0:13:59 [0:13:59




